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I '» mwn: rule #1: frequency > priority (source: v. 1)
a  therefore: 1N come before additional nn17p of the day (qoin)
i and: naw »a0In come before n™ 901, which in turn come before n™ 201N
b source (for pavin preceding each other in order of frequency): v. 2 — could have said nYR; n9R3 teaches — these are like pnn
i or(7an): from v. 1 —pnnn Ny R is superfluous, teaching that the reason for its primacy is its frequency
II 2 mwn: rule #2: sanctity = priority
a  Therefore: nRon DT precedes N9y D7, since NRYN DT generates 1192
i And: 05y mMaR precedes nkon »MaR as they are all burnt up
1 Source: v.3 - nron comes “second”, but first re: o7 (per v. 4)
(@) Question: why not perform first ninn of nron, then n%y, then complete nxvn
(b) Answerl (X2227): vv. 3-4 are re: %0 nRVN (not a real NRon for a sin), nonetheless nxron is 1st
(c) Answer2 (7”& »nn): since he began the nron manny, he should finish them
2 Question: N9y MaR vs. NkVN 0T — which comes first?
(a) Answer: no way to infer answer from our mwn, as 2" line (imply — nron o7 1%) at odds with 13t
3 Question: N9y DT vs. NRVN 2R — which comes first?
(a) answer: no way to infer answer from our mwn, as 1st line (imply- n%y »ar 1¢) at odds with 2d
4 question: does DWR DT come before or after nYyn 07?
(@) lemmal: N5y DT comes first, as it comes from %793
(b) lemma2: DwWR DT comes first, as it comes from 7990
(c) inference: from 1% precedence; N9 B> TP NRVN 0T — but not DWR 0T before Y1y BT
(i) block: it could have stated Dwx D7 is first as well, but had it done so, it would have been misleading
to state that DWR MRy PP YWY M1R, as we would have concluded that nkon »ar take precedence
(d) inference: DWRY NNTIP NRYN > 1YY is not before nwr
(i) assumption: this is in re: the 07
(ii) rejection: it is in re: MR
1. support: reason given (below), since m11p 12 11 N7
ii  And: nron precedes WX as the nkon o7 is placed on all four corners
1 in spite of: the consideration that DwR has a fixed value (2 n'y5v)
iii And: DWR precedes 11 YRy NTIN as it is VTP VTP
1 in spite of: the consideration that 11 %% "mn have on%
iv And: 11 98 nTIn precede 05w as they are eaten for 1 day and require nn% to accompany each
1 in spite of: the consideration that there are public nn%w
(a) detail question: does nTin precede or follow 11 YR?
(i) A7 has 4 types of loaves (111 R — only 2)
(if) 12 >>A has other ma7p that accompany it
(iii) answer: nTIN precedes — as it has 4 types of loaves
v And: onbw precede 31 as they require n2nvo, 0ov1 and the “lifting” (and donating) of ;w1 N (to w’nd)
1 in spite of: consideration that 71191 nw1Tp is from birth and all eaten by o113
III "> nywn: more applications of rule 42
a  And: 1 precedes nnna 1wyn, as its sanctity is from birth and is given to n»n3
i in spite of: consideration that 7wyn has power to be wTpn two around it (#9 and #11 — in case of error)
b And: nnna 9wyn comes before all bird offerings, as it is a nar and has p7R+07
i in spite of: consideration that maw are all (both) Dwp *w7p
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IV tangential discussion: status of mYp WP ™R that went out of N1y before 770t
NOW 92 X237 9109
support: our mwn — gives reason for 1wWYn over Mmaw — it is nar and has o7 and PR (but 9 has o7)

a

b

i
ii

meaning: PNMWR:DT - just as DT’s significance is before 77n71, so too PR have significance before 17t
and: since he refers to them as DwTp *WTp, just as o7 is invalid if it is ®¥Y, so too with PR

suggested support: 9" v. " re: 0%p DWTP w1 that went out (of nry) before 7"t

i
ii

»71. valid — it will eventually go out of Ny

571 invalid — its time to go out hadn’t yet come (before 7"n71)

1 note: their dispute is only re: 731, which will be taken out (to be eaten), but they agree re: PR
2 block: they disagree about pmmx as well, but disagree about 1wa to show extent of 9"1’s position

suggestion: this follows a DRI NpYNR, re: %P VTP ™R that went out of the Nty before 77

i
ii

~”77. no N9yn and no liability for v
y77. n'yn still holds and there is liability for v"a
1 assumption: their dispute is in a case where the 11 were returned to n7y
(a) »7rinvalid as rxy
(b) »™: not invalidated (before 7"m11)
2 rejection (979): if the PR were returned, all agree that n%yn still applies etc.
(a) their dispute: in case where they remained outside (at 1"n71)
(b) &77:7”nr doesn’t have impact on that which is outside
(c) »”r7"n 1 may still have impact on rxv
3 challenge: 9™ himself claimed that y™/8" disagree (in re: on%n 'nVY) they agree if they are outside — invalid,
disagreement about nnYn 'nw that were returned to N1y (before 7% MY NVNWY)
(a) answer: that is re: Bn>n "nY, not the 127p itself; re: PR, their disagreement is if they are still outside

V 7 mwn: more applications of rule #2
And: all birds precede all grain offerings, as they have blood

a

b

C

i

in spite of: consideration that there are public mmnin as well

And: R0 nman precedes 2T NN, as it effects N193

i
ii

in spite of: consideration that na71 nmn has oil and nna5
question: does N0 NNan precede or follow nam nmn?
1 lemmal: naTa nnan would come first as it has 2% nw
2 lemma2: nvyo mnn comes to clarify a (possible) sin
3 suggested proof: our mwn — RVIN NMin does precede NaT1 NMIN as it comes for RN = not NVID NN
(a) rejection: it states that n"n comes “for a sin” — which is true about nv1o nMn as well
4 suggested proof: “this comes before that, as this is wheat and that (nv1o nmn) is barley”
(a) assumption: “wheat” is 271 NMIN
(b) rejection: “wheat” is RvIN NNIN
(i) challenge: why give reason of wheat/barley; X0 nnin effects n193
(ii) block: if the opposite conclusion is reached, why give reason of wheat/barley, give nna» jnw
(iii) rather: only 1 of several possible reasons is given = no proof either way

And: qwn nron precedes yn Ny — both in performance and designation

i

source: v. 5 — teaches that all mron precede all my
1 argument: v. 6 already teaches that in the case of this 127p, nkon goes first, must be a ar yia for all mron that
are accompanied by my
(a) therefore: e1yn nron before Myn nY1y — from v. 6
(b) and: nnna nron before nnna Ny — from the added mann of o1
(c) and: qyn nron before nnna nvw (!) — from the ar paa
2 apparent challenge (8”7): usually, when the pair (birds) take the place of a nrvn, the 91yn nron comes first
(a) but here (117577): N9 comes first (v. 7)
(b) and usually: nkon comes for a sin> goes first; nT51 has no sin < goes 2"d
(c) and usually: the birds come for 1 nnna (e.g. y); here, it comes for one = goes 24
(d) rejection: that just explains why v. 7 is written in its sequence; in practice, even this nron precedes noy
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VI ruling related to our priorities:
a  order of “types”: bulls precede rams, which precede lambs which precede goats
i assumption: this is in an *avn (VYWY are mroN — and last)
ii  rejection: this is in case of all brought as naT
1 bulls: have greater n’>0) than rams
2 rams: have greater 1201 than lambs
3 lambs: have tail, which goats don’t have (fatted n9R)
b order of nrpzo mrvm N1 103 19, then ¥™W 727 1YYN 19, then (N9W) 1Y 19, then (NROVN) 1"y VYV
i observation: here, 91y comes first
ii  block: prove from 727 D5Yn 99 coming before 1"y 75 that nrvn does have precedence
1 defense: when one type (bull), clear that nkvn comes first, challenge is only type vs. 1299
iii  answerl (»’& »15n): NRON is written non (v. 8) — “diminished nxvn” to follow n%Y
iv  ansswer2 (82237): v. 8 indicates vawni — follow the order of the pyoa (1Y, then non)
1  note: once we invoke vawny, that is the common word in all 931 n11p >0y precedes nronY VYV
VII question: if nnna nvy gwn nron and Nnna 9wyn come at one time, which takes precedence
a  possibility1: 9yn nron goes first — but 7wyn should precede it, per our nwn
b possibility2: 7wyn should go first — but nnna n»y should precede it, per our mwn
¢ possibility3: nnna Ny should go first — but 93yn nron should precedeit, per our ax 112
i answerl (523): nar takes precedence — 1wyn takes precedence, and 91yn nron follows, with nnna n%y last
ii  answer2 (»’&): NnN1 N9 rises above Wyn, and “lifts” 9yn nron with (above) it
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